41.34:
a) For large values of n, the inner electrons will completely shield the nucleus, so 
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 and the ionization energy would be 
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 EMBED Equation.3  [image: image4.wmf].


    c) Similarly for n = 650, 
[image: image5.wmf]650

5

2

,

eV

10

3.22

(650)

eV

13.60

r

-

´

=



 EMBED Equation.3  [image: image6.wmf]´

=

(0.529

(650)

2



[image: image7.wmf]m.

10

2.24

m)

10

5

10

-

-

´

=


_1118254891.unknown

_1124781004.unknown

_1124781035.unknown

_1124781113.unknown

_1124781021.unknown

_1121250406.unknown

_1118254803.unknown

